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INSTRUCTIONS frdar 54
1. Answer all questions. 1., @ gl # 9wy St ; :
2. All questions carry equal marks. o wE w3 o mE B trod
3. Only one answer is to be given for each question. 3. 9% 93 F 99 OF ¢ I dl | . ."\!'“-Cé"
4. If more than one answers are marked, it would be 4 UF @ AE T A o A B nen B 3o B e 5 ]I?

treated as wrong answcr.

Ln

Each question has four alternative responses marked
serially as 1. 2, 3, 4. You have to darken only one
circle or hubble indicating the correct answer on the
Answer Sheet using BLUE BALL POINT PEN.

6. 1/3 part of the markes) of each question will be
deducted for cach wrong answer. (A wrong answer
means an incarrect answer or more than one answers
for any guestion. Leaving all the relevant circles or
bubbles of any question blank will not be considered
as Wrong answer.)

7. After opening the envelope the candidate should
ensure that Serial Number of the Question Paper and
Answer Sheet must be same. In case they are different,
a candidate must obtain Envelop of Question paper &
O.M.R. Sheet the same Serial Number. Candidate
himself shall be responsible for ensuring this.

8. Moaobile Phone/Bluetooth Devices or any other
electronics padget in the examination hall is strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R.
Sheet. 5 Marks will be deducted for filling wrong or
incomplete Roll Nurnber.

10. If there is any sort of ambiguity/mistake either of
printing or factual nature in Hindi and English Version
of the question, the English Version will be treated as
standard.

Warning : If a candidate is found copying or if any
unauthorised material is found in his/her possession,
F.LR. would be lodged against him/her in the Police
Station and he/she would liable to be prosecuted under
Section 3 of the R.ILE. (Prevention of Unfairmeans) Act,
1992 Board may also debar him/her permanently from
all future examination of the Board.

Toitd / Maximum Marks: 480
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1.  The word 'Statistics' is derived from the Latin word:

1) Strata 2) Status
3) Statics 4) Sample
|. Hifes 9= g e 9= § a0 E 7
1) e (we) 2) P (wew)
3) @ (hem) 4) wfaesl (Feae)
2. Statistics facilitates:
1) Collection of data 2) Organisation of data
3) Comparison of data 4) Disposal of data
2. w1 T o B ¥ 7 : !
1) #9H TIew 2) THE B TTeA
3) |Hb! @l gl 4) wH& @ Fues
3. Statistics can best be considered as
1) Anart : 2) Science
3) Both art as well as science 4) None of these
3. wifeadl &l dgaT HA A1 Thdl © -
1) & &M - : 2) Rem _
3) e ud faem el 4) TUE § § BE 6l
4. The representation of statistical data by rﬁaps is called -
1) Pictogfam 2) Bar diagram
3) Histogram 4) Cartogram
4. WETEA & B Qo qoehl B Jfairad Hedr & -
1) T am 2) ugdl (aw) s
3) fewmm 4) HEUH
5. Units of statistical analysis and interpretation includes
1) Ratios and Percentages - 2) « Rates
3) Coefficients 4) All the above
5. it s 3 e # g § o § -
1) &I 9 Hie 5 [ 1
3) TuNE : 4) SRR W

6. Classification is the process of arranging data in:
1) Different rows 2) Different columns and rows
3) Grouping of related facts in different classes 4) None of these

1) Tafes dfemal & - 2) fafwys dfeaat qen we A
3) wErRE T B Ak wael § aga & 4) SwE § ° B A6
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7.  Which of the following divides a group of data into four sub-groups?
1) Median 2) Quartiles 3) Percentiles 4) Standard deviation
7. T # %N OHGl & U% HYE @I 91 99 S9E § gied § -
1) e 2) dgu® 3) o 4) vam faged
8. (Classification of data is the:
1) 1st stage of tabulation 2) 2nd stage of tabulation
3) 3rd stage of tabulation 4) Final stage of tabulation
8. WHHI N B & -
1) ARl & uas sge 2) | & fgdiE s
3) HAYE @ A SEE 4) GRviiE & g st
9. Which of the following is not a measure of central tendency?
1) Mean 2) Median 3) Variance 4) Mode
9. = § B FE wght &1 AW A T 7
1) #1&g 2) WHHE&RT 3) maIo 4) dgdad
10. If a data set has an even number of observations, the median.
1) Can not be determined
2) Is tHe average value of the two middle items
3) Must be equal to the mean T
4) Is the average value of the two middle items when all items are arranged in asccndmg order
o ; g =i | S
10. a7 THGI & TYe 9 T SEdAdAl & & ol JEEw! - e a7}
1) fuifie 280 & asdar CinfaR - f
2) & W HEnE @ Sfed g erm
3) Hie"g % TIET BT oilailfle Yo el
4) awmmmﬁmﬁwmmwa@mwmgqamﬁm)w@
2inuiornl
11. The value that has half of the observations above it and half the observatlons below it is called the.
1) Range 2) Median 3) ' Mean e 4)H ﬁﬁ&’&e
11. a8 g, Fras SO o s § adr 9 o ol sEeied 8, dew § -
1) = 2) Heme 3). W et oo D, FEED
12. The variance of a sample of 81 observations equals 64. The standard deviation of the sample equals.
Jycy 2) 4096 3) 8 . 4) 6561
12. U Afcest & 81 Sl &1 YA 64 ¥ | 59 Widwyl & ww foee § -
5 e 2) 4096 X § ~ 4) 6561
1]6-0:' 4 2
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16.
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17.

Which average can be used for studying phenomena like intelligence and honesty:
1) Mean 2) Median
3) Mode 4) Standard deviation

gfearl 3 famer S gemmstt & oread &g B9 o1 Jfma wan fean A ge § -

1) s1&q 2) HeE®

3) TEFD 4) vA fa=e
Sub-divided bar diagrams are also known as:

1) Percentage Bar diagram 2) Component Bar diagram
3) Histogram 4) Deviation Bar diagram
sy-famferm wedt emm @t = & off o o & -

1) w9 Tt _ 2) UCH UCel HAN@

3) few=r am : 4) fagea wedl ana

Secondary data are generally :
1) More reliable than primary data 2) Less reliable than primary data
3) Depends on the agency collecting data 4) None of the above

fZdiae 94 qmE: 8 § -
1) wWaWE gua 9 E SEhEe 2) WHEE 9% T BT WIEEE

07 F3) | OYE THE wAE tEn W R W e 4) SWE § ¥ B @

From the information given below choose the correct answer :
FactorvyA  Factory B

Mean daily wage  Rs. 300 Rs. 50

No. of workers 50 300

1) TFactory A pays larger amount as daily wages

2) Factory B pays larger amount as daily wages

3) Both factories pays equal amount as daily wages

4) Cannot be determined

9 &1 TR ga ¥ 96l S g

‘ HR -3 theaedl-g
i@ mreg wegr T300 .50
e el gk stes | 50 300

1) Weed ‘& Fo < F9gdl &1 6l YIaE Sl & |
2) el ‘T FW &fd AEd & SawEl YA &l € |
3) Ml BE THM F &M qegdl B TIEE &l ©
4) it = foar o gean & |

If Mean is 5 and Variance is 9 , the coefficient of variation will be:
1) 60% 2) 90% 3) 30% 4) 50%

afg " 5 & T YW 9 # & (o o s (S sitw aRdem) B -
1) 60% 2) 90% 3) 30% 4) 50%

06-+3 5
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20.
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21.
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22.

The number of observations corresponding (o @ particular class is known as:

1) Frequency 2) Cumulative frequency
3) Class interval 4) Mid point

ol fadt e & WO STawiEAl & e A S € -

1) aEEdar 2) oo aEsETdl

3) HE AA 4) weafag

If Q1 =35, Q2 =10 and Q3 = 20, the quartile deviation will be:
1 13 2y 325 3 73 4) 30

afe Q1=5,Q2=10921Q3 =20% dl =gyl fage 2rm -
1) 15 2 25 3 73 4) 30

The following table gives the result of an examination taken by 120 students. How many students
received at least 70 marks in the examination:

Marks Less than 50 | 50-59 60-69 | 70-79 | 80-89 | 90-100 |
Cumulative 15% 10% 30% 25% 15% 5%
Frequency
1) 54 2) 45
c) B A 4) None of the above .
ot aferar 120 Ferenfefall zmen € wéien ot sfvoms Rt & | g when feaw faenfifai & @m & &9 70
& 9 {6 | .
EEd] 50 9 %9 50-59 | 60-69 "1"90-100"
el 15% 10% | 30% 5% o~
i o
LSS A 1 ok
1) 54 2) 45 UL 1ungTe] s
3y D% 4) Gﬂfﬁlﬁ ﬁnﬁﬁhﬁ & Cofd (f
B PR b R S | '“125\3 .
Exclusive method of classification should: . [ fonng
1) Not be preferred to inclusive method
2) Be preferred to inclusive method fin ¥
3) Both inclusive and exclusive methods are same = |
4) None of the above - ke
B E I (EEEIE) Tt @ - b
1) wumEsht fafe @0 gen & mefyear 98 2 =iz
2) mﬁsﬁﬁaﬁrgﬁmﬁmﬁaﬁnﬁﬂﬁq
3) & wHE 9 o faf uh wee €
4) IE H H B T
Histogram is used to find:
1) Mean 2) Median 3) Mode 4) Variance
1) uiem 2) weg@ 3) aga® 4) WO

06-4% 6
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28.
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29.

29.

If Arithmetic mean is 48 and Median is 47, Mode value will be:
1) 44 ) 45 3) 49 4) 95

afe waTa? | 48 T G 9900 47 ¥ |1 agas & -
1) 44 4 - 3) 49 : 4) 95

In chronological classification data are classified on the basis of:
1) Location 2) Class interval 3) Time -~ 4) Attributes

FTATIHAD FHI H THH] H1 JEI0 {65 T 07 & € -
1) = 2) o I - 3) g 4) fasraar

The number of questions in a questionnaire should be;
1) 10 2) 20
3) 40 4) Depends on the purpose of the survey

FEEEa: T woarasr d feaq use 8 =nfga ?
10 2) 20
3) 40 4) T % TE@ W T e ¢ |

The median of the data; 16,18,20,28,30,32,40 is:
13- 14 : 2y 30 3) 18 4) 28

qHT; 16,18,20,28, 30,32,40 &1 FEH B -
1 14 2) 30 3) 18 4) 28

While editing primary data our focus should be on information given in the questionnaire is;
1) Complete 2) Consistent 3) Accurate 4)  All the above
e mafE TOE H TS FIT € A SAE S & 91y 6 usEEe § &1 T geen -

) E 2) HEHW® 3) W ® 4) Tl wd

If X is 30, the sum of deviations from X in the series 10, 20, 30, 40, 50 then will be:
1) Zero 2) 60 3 20 4) 15

I X %7 7 30 & 8% 10, 20, 30, 40, 50 H X & fr T feert w0 9o 2w -
1) 94 2) 60 3) 30 4) 15

In a distribution of 10, which of the following would be an appropriate average for determining the
most common size of shoes?

1) Arithmetic mean 2) Geometric mean

3) Median 4) Mode

10 e & oo &, Frt # 4 29 o aiga 99 o A SR 5 S R 5 % e ot B
1) a9 91 2) U HTE -

3) wegwml 4) dga®d

PSSR —E RS REEEEE ES e
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31.
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32,

3.

34,

34,

Which of the following is a positional average:

1) Arithmetic mean 2) Geometric mean
3) Mode 4) Harmonic mean
f 4 & @ @ R e © -
1) HHI=T AL 2) TUNTE HEY
3) FEaE 4) FES T
With increase in sample size, Non-sampling error usually :
1) Decreases 2) Increases
3) No effect 4) None of these
ufeest ®1 SER T W, W - wiaga gfe g -
1) et § . 2) ;@A E :
3) @HE UAE el 4) STET A H BE A2
Which of the following would you regard as discrete variables:
1) Height 2) Time
3) Wages paid to workers 4) Number of persons in a family
Fet 4 8 T8 s s =Y AT -
1) FaE ‘ B
3) worgd & & W AeEd 4) oftar | =fedl B den
. The sum,of the deviaiions of individual observations from which of the following is zero:
1) Mode 2) Median ' ]
3) Geometric mean 4) None of these
Fafes et @ = § & Tead faw @ e & 9 g @ - 5 ik
1) d9ga% ' 2) HegH b
3) TUIER =T 4) ITE A A BE T S—
Simple Random sampling is not preferred when - ¥
1) Population is homogeneous 2) - Population is h@terogen;ot;}%; OF 28 ¥ 1
3) Bothl &2 ~ 4) None of the above rt1‘=.~;'-._
T gEkad ddedd & arafHedr 1€ & 9l € - 99 D
1) SEEET HE A 2) SEE A &l
3) 1ud2aF 4) =UEd q 9 i @

4 L AV Ul ‘i\; TR, :
35. The standard deviation of 30 items in a data set is 5/3. If every item }x{lth&data set multiplied by 3,
then the variance of the group will be - £k
1) 5 2) 10 3 -2 4) 30
35. 30 wel o1 g fereei 5/3 % | S 9 6E &l 3’ F YO &2 {o91 W ql We @1 FHul @41 B0 -
1) 3 : 2310 3y 25 : 4) 30
06-43 8




36. For dealing with qualitative data the best average is:
1) Arithmetic mean 2) Mode
3) Harmonic mean 4) Median

36. TUTEE HE 9 Fue & oo gey sres ST am A E -

1) @Y q9rg 2) dgds

3) TIHE At 4) Wl
37. The geometric mean of two numbers 8 and 18 shall be:

b 12 5 13 3)..10 4) 26
37. &1 GE&AHT 8 T 18 FH YONC AEA BT -

1 13 2 13 3. 10 4) 26
38. The quartile deviation of 10 items is 8. The standard deviation will be:

1) 8 2) 10 3] 12 4) 80
38. 10 W&l &I 9guis e 8 & | 36 w99 foae & -

1) 8 2} 10 3} 12 4) 80
39. The range of the data set: 28,12,18,14,15,7,42,20 is:

1) 8 2) 10 3) 12 4) 35
39. W% TYE 28,12,18,14,15,7,42,20 B T R & -

1. 8 2y 10 5§ ! ¢ SR 4) 35
40. 'Ogive' hclI:s to locate -

1) Mean 2) Standard deviation

3) Mode 4)  Median
40. ‘3N’ @1 YT FH F G HIAT € - |

1) =req 2) w9 faEe

3) dgu% _ 4) "Bl

41. Arithmetic mean of 20 values is 45. If one of these values is to be taken 35 instead of 55, the correct
arithmetic mean is:

1) 44 2) 45 3) 46 4) 65
41. 2098l & QUG 91ET 45 % | 9f 308 U% HE @y 35 %7 e 55 @ foran W & & A guea e ann
1) 44 2) 45 3) 46 4) 65
42. The measure of variation that is least affected by extreme observations is:
1) Range 2) Mean deviation
3) Standard deviation 4) Quartile deviation
42, qﬁaﬁa&ﬁamwwﬁwmwﬁﬁwﬁmwﬁmﬁmr
) = 2) wre faEes
3) yHY &FEe 4) wguiE feam

06-«3 9
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43. The collection of all possible observations of a specified characteristic of interest is called -
1) Population 2) Random sampling
3) Purposive saipling 4) Conveniencs sampling

43. T =i % fasaar a9 awr g @fae JaarEa & UHEa B Heen ¢ |
1) SHEEn 2) dEfws dfaaas
3) T whEEd 4) FRYUEES AaaH

44. Mean + 2 S.D. approximately covers an area in a normal distribution:
1) 59% 2) 68% 3) 95% 4) 9%

44. UF A G99 § A + 2 Y EEes @@ e e & & ¢
1) 59% 2) 68% 3) 95% 4) 99 %

45. Non- Random sampling is also referred as :
1) Probability sampling 2) Non-Probability sampling
3) Stratified sampling 4) Census

45. v-argfese nfeead & f=1 & o s s 8 - ;
1) wiferesar wfoaas 2) Trufeesar wfaeas
3) =g e 4) ST

46. If X is 3 and the distribution is 2,3.,4.5,8, 10 the sum of squares of deviations from the X will be:
1) 48 2y 12 3) 16 4) 22

46. AR X AT 5 ¥ A B 234,58, 10 § X & e i farmerii % it @ A A -
1) 48 2) 12 3) 16 4) 22

47. Stratified sample is preferred where -
1) Random sampling is not possible 2) Small samples are required
3) The population is perfectly homogeneous 4) The population is not homogencous

47. =g Aieaad & mafEEsar & A € 99 -

1) dfse uaad 999 T8 © 2) ®Ie wfaest @ SEsgwdr €
3) SEEE qUiaY g € - 4) FAEEAT YOiaHT FAEE &
48. The purpose of sampling is :
1) 'Testing, of hypothesis 2) Estimation of population parameter
3) Both'l' & 72' 4) None of the above

48. WI9A 1 35399 ¢ -

1) uRieear & S & 2) TEEE U & AT HE
3} 1’ we ‘Y i - 4) THE J 9 B T6
06-+3 10 '




49,

49,

50.

50.

5% o

51.

32,

52.

%

93,

54.

34,

Sampling saves:

1) Time 2) Money

3) Boath'1"and 2 4) None of the above

) wa 2) =l _ _

3) ‘1’ ud ‘2’ EMi 4) I H § ®iE T8l

The measure based on only two values of the series is -

1) Range 2) Quartile deviation

3) Mean deviation 4) Standard deviation

€ AT AT A F FAG T Jedi 9T AT B ©

1) = 2) dgui® faaes

3) #Arem fEEee 4) Y g

When each member of a population has an equally likely chance of being selected, this is called:
1) Non-random sampling method 2) Quota sampling

3) Snowball sampling 4) Equal probability selection method
qfe FEET & TAE HeH & YA EF & HIH THH B Al I Hewd -

1) R - gchose feaa fafa : 2) @ier Uiagad

3) & dfaEdd 4) F9H migwar g fafy

Which of the following is not a non-random sampling technique?

1) Purpo%ive sampling 2) Quota sampling

3) Convenience sampling 4) Cluster sampling

Fe 7 @ B9 @ TR-aes diaedd dbw Tl o -

1) sgsefi gl 2) el ueEad

3) gfguHs ufagas 4) u4qs ulagad

Which of the following is a set of elements taken from a larger population according to certain rules.
1) Sample 2) Population

3) Statistic 4) Element

e & & %M Al %1 wE § O R 9St e § 36 et % e 9 forE o € -

) uied 2) el

3) wiem (Rfefes) 4) T

Which of the following is the method of Random Sampling -

1) Stratified sampling 2) Systematic sampling
3) Multi-stage sampling 4) All of the above
f= 8 & B9 argfese uigags fafg & -

1) =g gieead : 2) waftyd afaaad

3) ag-3mEml uiqead 4) TIET 94

06~ 11
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59.

60.

60.

The important methods of collecting primary data are -

1) Direct pcrm{la] investigation 2) By mailed questionnaires
3) Question: sent through enumerator 4) Al the these

1) o =T e 2) =% T 9SAEEl

3) HNUH Z U Ho 4) IuIEE |l

The important demerits of direct personal investigation is:

1) Less time 2) Accuracy

3) Personal prejudice 4) None of these

T AT T H FEAg0l & © - _

1) &H a9 2) wear _

3) fFaa qEE 4) TUUET H H FZ A

The usage of which type of data saves time, money and energy?

1) Primary data 2) Secondary data

3) Both'l'and 2' 4) None of these

1) wgPE w6 2) fadies w5 :

3) Tl mE Y 4) TUUE H H BIE @I

The important merit of census is -

1) Information on all items are collected 2) Data of information more accurate
3) Both'l'and 2' 4) More expensive

SRTONT & MR ME - N :

1) ot wdt Bt I TEee &l § 2) THEl & gaT fEd qle Bl
3) i ‘1 ug ‘2’ 4) ot HEW eI B ol
Diagrams and graphs are tool of -

1) Collection of data 2) Analysis 3) Summarization 4) Presentation
@ W e TR -

1) HH& GUET % 2) fascmor % 3) Fepd Feee & 4)  wgdiem &

In simple random sampling -
(1) Each possible sample to have an equal probability of being picked
(ii) All n-items of sample are independent of each other in selections

1) .Only (i) 2) Only (ii)
3) Both (i) and (i) 4) None of the above
HIERY Aefess iaead | -

(i) yediE wenifea ufdesl & g9 o &t Wit 999 e E |
(ii) Afaest & A n-A% U @Y & gHE 9 w@Ed 2§ |

1) % () : 2) %A (ii) |
3) @Ml () Ud (i) 4) TTEA § I Hig 7w
06-+2 12
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65.

The value of mean, median and mode in an ideal symmetrical curve of bell shape will be
1) Different 2) Heterogeneous 3) Identical 4) None of these

T §eT & AT & el W W A AT, T A4 9ged b g -
1) = 2) JEEY 35 w9 4) TOEA H ¥ @1 A

The characteristics of ideal measure of central tendency is -
1) Should be rigidly defined

2) Should not be affected by extreme value

3) Should be suitable for further mathematical treatment
4) All the above

U ISl Heid wgied & WY Hi a4 g / Eeead € 7
1) @dwar § uftafd & wfee

2) = gedi § wWifad T8 e =Ry

3) IEG AdREd I MG SHERT & MU Iuged BF1 =iEn

4) IRET 9

The statistical tool which measures the degree of spread and variations refers to -

1) Dispersion 2) Regression 3) Correlation 4) None of the above
T% Hifteda gf o1 [AEeg ud uigds & 3isT &1 A ¢ - - W iR b
1) arafeTor 2) WA 3) HWew=H 4) TWETH q FE T

The following table shows the number of hours worked by 200 students.
Answer questions 64 - 66 on the basis of this table :

Number of Hours Frequency
0-9 40
10-19 50
20-29 70
30-39 40

Frt et Aol 200 e ewy &/ & f6d T |l @ e |
U HEdl 64-66 % ST T8 ARl b HEN UT S

e i ke THERA

09 . . 4B

10-19 50

20-29 70

30-39 40
The class interval for the above distribution is:
1y . 9 2) 10 2y .1t 4) None of the above
s 2) 10 R 4) SUEd § q #E @
The number of students working 19 hours or less is:
1) 40 5 S 3) 90 4) can not be determined
39 Tl & gen S 19 9¢ a1 zo9 &9 FE B E |

1 40 2) 50 3) 90 4) fRuifa =& e o g

06-+% 13
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68.

68.

69.

69.

70.

70.

i &

71.
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The cumulative frequency for the class of 10-19 is;

1) 90 2) 25 3) 45 4)  None of the above
T 10-19 @) Hedl araEwa - : : :
1) 90 ) i i | T 4) IUET H T B3 el
How often does a complete population count takes place in India:

1) Every year 2) Every 5 years

3) Every 10 years 4) Every 11 years

WA H Bl A0 FEE &I T o Siade 97 &l © |

1) Y% a9 2) d® 5 a9

3) W 10 a9 4) u®F 11 99

The data collected through Participatory Rural Approach (PRA) is an example of .

1) Primary Data 2) Secondary Data

3) Both Primary and Secondary 4) Can not say anything

wriraTl wwin fafer g v fed 19w fme e & -

1) wEfe T 2) fedas s

3) urafie g fZdmas ami 4) @B W€l BET AT el
Sampling errors can occur only in :

1) Sample survey 2) Census

3) Both Sample survey and Census 4) None of these

uferaas 3 e f § & aE o g -

1) wiaest w9 _ 2) SO

3) il /9  FFEOET EFI 4) SUEd | § #IE T@

A number calculated with sample data is called:

1) - Statistic 2) Population

3) Parameter : 4) None of the above

wfcrasl WHT BT TOT B T HE Bl Fed © - X

1) Hiiteas (fefes) 2) S HEm )

3) v 4) TG H § BE @

When did Planned development start in India ?

1) 1950-51 2) 1951-52 3) 1954-55 4) 1957-58
d ¥ IeEE fmE uee & g ?

1) 1950-51 2) 1951-52 3) 1954-55 4) 1957-58

Until now how many five year plans have been started in India ?

1) 10 . S | 3 12 4) 13
YA § o9 a% el Jaadid doEn @r) B e § 2

- W 2) 11 3y 12 4) 13
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73.

74.
74.
75.
75.
76.
76.
7,
7.
78.

78.

On the eve of Independence about percent of the country's population was dependent on

agriculture

1) 60 2) 80 3) 85 4) 15
TAadl & d HA WA Ui T B ARG FY 7 |
1) 60 2) 80 3) 85 4) 75

In Rajasthan's Eleventh Plan {2007-12) Maximum expenditure was done on which of the following ?
1) Rural Development 2) Power
3) Sacial Services 4) Trrigation & Flood Control

TR & Edl arer (2007-12) H Faies &9 &8 98 97 e A ?

1) T fagwm @ 2) U W

3) HEIfAe Harsi 9w 4) e T ar M w
Special Economic Zone (SEZ) Act was passed in Rajasthan on

1) 10 September 2003 2) 11 August 2002

3) 12 January 2004 4) 13 July 2004

T § Wy ST &= (SEZ) stufvam @ifve fean e -

1) 10 Rz 2003 _ 2) 11 30T 2002

3) 12 FEdl 2004 4) 13 JeE 2004

At constant prices (2004-05) what was the cstimated per capita income in Rajasthan in 2014-15
1) Rs. 38215 2) Rs. 33,186

3) Rs. 37,290 4) Rs. 38,790

2014-15 § ToredT @t ferw geai 2004-05 w2 ufe afEm s s faa @ 2
1) R.38215 2) %.33,186

3) T.37,290 ¥ 4) . 38,790

In 2013 in Rajasthan the annual production of cement (all types) was approximately how much ?

1) 100.3 Lakh Tonne 2) 180.4 Lakh Tonne

3) 192 4 Lakh Tonne 4) 194.3 Lakh Tonne
e § 2013 § dige (g %&q @l) 1 diftfep SedTed @i THI foherar BT ?
1) 100.3 @@ & 0 2) 1804 @ T

3) 1924 @rg &H 4) 1943 @& e

In 2013-14 in Rajasthan the share of Agriculture (including Animal husbandry) based on the year
2004-05, 1n the state's net domestic product (NSDP) was how much ?
1) 21% 2) 22% 3 23% 4 25%

201%14qnmmq§f@raﬁaﬁr{qsrmmﬂ%ﬁ)200405a?rqﬁquw—:asj?mq—m
(NSDP) 7 feam afsr 71 ?
) 21% 2) 22% 3) 23% 4) 25%

06- o‘» . 15




79.

79.

Mewat regional Development plan is for the benefit of people of which two districts ?

1) Barmer and Jaisalmer 2) Sawaimadhopur and Bharatpur
Alwar and Dholpur 4)  Alwar and Bharatpur

Herd wiefome faard wivaran 6 &1 e & A9l &1 @19 4gaH & U ¢ 7

1) asHT q1 SHeT 2) TEEAEYT a9 $IagY

3) EET Ul YT 4) AT TAT AIAYG

80. In the Power Sector in Rajasthan, the Transmission & Distribution losses (T & D losses) in March
2014 were estimated to be ?
1) 30% 2) 35% 3) 27.5% 4) 38.2%
80. TowH H fagd &9 § yARY g fga7ur &1 arer (T & D losses) #E 2014 # feha=n e 741 £ ?
1) 30% 2) 35% 3) 27.5% 4) 38.2%
81. Which statement is True ?
i)  In Gross Domestic Product (GDP) the share of export of goods & services in 2000-01 was 14%
i1) The share increased to 22% in 2010-11
1) i) True 2) i) True
3) Bothi) & ii) are True 4) Bothi) & ii) are False
81. M Hl =T 99 € ?
i) WA ¥ g 9 @ (GDP) d gl S dais & aia @ ee 2000-01 5 14% o1
if) @ fewam gg@? 2010-11 § 22% & T
1) @ddg 2) i)Hg
3) @M (i) 97 (i) 7 4) M () T (i) FEA
82. Which Statement is True ? .
1) Second five year plan was based on Harrod-Domar Modcl
ii) Second five year plan was based on Mahalanobis Model
iii) Second five year plan was based on Solow Model
1) i) True 2) i) Tue
3) iii) True _ 4) None of the above.
82. HM W =T T ¥ ?
i) fedim 99 quE g & SMR Hisw W SmEid © |
i) fzdm 99 adf 9ee AeMEeE Hied 9 o @ |
iii) fedfa da adfa S | Aiea W@ et # |
1) i)9d 2) i)Ed
3) i) HA . 4) TWE H 9 BE TR
83. Which Statement is True ?
i) The objective of Eleventh Five year Plan was 9% in growth rate
i1) Growth in manpower planning in Eleventh five year plan was Rs. 5.20 crore
1) 1) True 2) i) True
3) Bothi) & ii) True 4) Bothi) & ii) False
06-<3 16 w2




83.

84.

&4.

85.

85.

86.

86.

& o A gy E 7

i) TEveEdl 49 qUE I B Se59 9% [T T o7 |

ii) TarEdl 99 T4 qe § Aaste S w5 e 5.20 FaE an |
1) i)&dg 2) i) A= |

3) 4 (1) 991 (i) g 4y aHl (i) aur (i) wEd

Which Statement is True ?

1)  According to 2011 census, the population of Rajasthan was 6.86 crores.

ii) On the basis of state domestic product based on constant prices (2004-05) it was computed that
the maximum growth rate of the state was during Eighth Plan

1) 1) True 2) ii) True

3) Bothi) & ii) True 4) Both 1) & 1) False

& O A A E 7
i) 2011 % T & FAJAR TALH H FTEET 6.86 UL & |
i) S8 99d TR & ST T R 9wt (2004-05) W TUFT B 9T T H Taiee ghe & sl

o F EE |
1) i)a=d 2) i) Fd
3) =FET (1) 991 (i) 79 4) TH (1) a9 (1) d9d

Which Statement is True ?

i)  Until now Twelve Five year plans have been completed in India.

i1) During plan period before implementing of fourth plan, three annual plans were implemented
1) 1) True, 2) ii) True

3) Bothi) & ii) True 4) Both 1) & 11) False

& Gl e 59§ 7

i) Wﬁmwwwaﬁawiﬁﬁﬁ

i) mwﬁag&mwmaﬂﬁ%qﬁﬁqaﬁ%mﬂﬁmﬁﬂél
D i)4d 2) ii) dd™

3) T () 99 () g9 4) TET (1) T4 (1) T

Which Statement of Economic Survey 2016 is true 7

1) Govt. Plans to change 77 crore bulbs and 3.5 crore conventional street lights with LED
i1) This would save 21,500 mega watt of Electricity

1) 1) True 2) 1) True:

3) Bothi) & ii) True 4) Both i) & ii) False

M 79 2016 BT HFET i dd & 7
i) W?ﬁn&w77mwam35mwnmﬁm=€mmﬁl,rnﬁw%|
i) 2EH 21,500 7 dic Hew 99 S |

1) i) 4™ 2) i) " ™
3) M (i) q9T (i) 7L 4) =T (1) T9T (i) FET
06-<% | : 4 17
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87. Which Pair is correctly matched ?

A) Foodgrains Production in India (2012-13) : 25 crore tonne

B) Death rate in India (2011) : 7.1 per 1ousand

C) Sex ratio in Rajasthan (2011) per thousand : 926

1) A 2 B 3 C 4) AllA,B,C

87. T TSt °§ &M @ At @ ey @@ E -
A) 4FF § WEE SHEEA (2012-13) 1 25 &S eF
B) HRA H 9 & (2011) : 7.1 9 &R
C) TTEE ¥ R (2011) 9 €916 : 926
1) A 2) B ;T 4) ®HA,B,C

88. Which of the pair is correctly matched ?
A) Density of population (2011) in Rajasthan : 201
B) Panchayathi Raj started in Rajasthan in the city : Nagaur
C) Rajasthan's position in India on the basis of area : Second
1) A&B 2) A&C 3 P& 4) A

88. = F=T § § & | WEl & Hey wE g 7
A) TSN § SqEEn 99 (2011) - 201
B) RUM H ARGl T @ JEAT B 98T : AR
C) &% B aftc § ToRa &1 9RG § I @
1) ATMB 2) ATC 3) BaarC oy

89. Match the following Pairs
A) Percapita power consumption (KWH) (2010-11) (India) (i) 843.75
B) Per capita Power consumption (KWH) (2010-11) Rajasthan (ii) 818.75""

C) Size of Agricultural holdings (2005-06) India . = (i) 1.23:Hectare
D) Size of Agricultural holdings (2005-06) Rajasthan ~ ((iv):3.38 Hectare
1) A-Q) B - (ii) C - (iii)" D - (iv)
2) A-(ii) B-@G)  « C-(@v) D - (iii')
B A-@) B - (i) C - (iv) D - (iii)

4) A - (i) B - (i) C - @) 1 2 D> @
89. =1 Sirel a1 e @i -

A) vl =RE fFEa s (KWH) (2010-11) ‘iﬂ"ﬁ(l) 843 75

B) wid =i [ T9€rT (KWH) (2010-11) TR0 (ii) 818.75

C) Fa Tl & BN (2005-06) AR (iii) 1.23 Faer

D) & Sl & HBR (2005-06) T (iv) 3.38 di

1) A-Q) B - (ii) C - (i) D - (iv)

2)  A-(il) B-(1) C-(iv) D - (ii1)

3) A-(3) B - (1) C - (iv) D - (iii)

B A-GD B - (i) C - (iii) D - (iv)
06-0:1- 18




90. Match the following Pairs
A) Central Arid Zone Research Institute (CAZRI) (i) Kota
B) According to 2011 census maximum population the city (Rajasthan) (i1) Jaipur
m  C) According to 2011 census maximur literacy rate (Rajasthan) (iii) Jocipur
D) According to 2011 census lowest Density (Rajasthan) (1v) Jaisalmer
1) A-(iv) B - (i) C - (111) D - (i1)
2) A-(ii) B - (i) C-() D - (iv)
3) A-(u) B-@) C - (iii) D - (iv)
4 A-() B - (ii) C - (iii) D - (iv)
90. =1 SEl @1 faerg @ity - |
A) &EE 95 FTEUH e (CAZRI) () el
B) 2011 SUAET & AJAR Y49 S9IE1 SEET 9/l 9187 (A=) (i) TG
C) 2011 FFUET & FIAN Rl &7 qa9 AfeE () (iii) THYE
; D) 2011 FAIUAT & HIHR FEH FH TTEHEAT g9 (TEEH) (iv) STEEHET
] 1) A-(Gv) B - (@) C - (iii) D - (ii)
2)  A-(iii) B - (ii) C-(@) D - (iv)
- 3) A-(i) B-(i) C - (iii) D - (iv)
¢ 4) A-(3) B - (ii) C - (iii) D - (iv)

91. When 'Shahpui'a Prajamandal’ was founded ?
1) 1934 AD 2) 1936 AD 3) 1938AD 4) 1940 AD

91. SMEYT WSHEW @l HI9HT1 & & 7 Y
1) 1934%. 2) 1936%. 3) 1938%. - 4) 1940%

92. Who was the author of 'Lalit Vigrah Raj Natak'?

1) VigrahrajTV  2) Somdev '3) Hariraj 4)  Prithviraj 1L
92. e [IUETS &1 W@ i A1 ¢ 4
1) fEusas =gy 2) HHeg 3) zRaw 4) YHARS FAEA
93. 'Gair' dance style is popular in which place of Rajasthan ?
1) Shekhawati 2) Adiwasi 3) Danga ; 4y '"Mewat
93. 4R’ I UM % o9 & | vefea B ? _ :
1) SrEmEet 2) FfeETE - 3) = 4)  Had ’

94. Where the Bal-kila is situated ?
1) Ajmer 2) Alwar 3) Dausa "~ 4) Jaipur

94. ‘qmEAIFAT EwEl fiud & 7
1) 3T ) 2) FeaT 3) & 4) WY




us.

95.

96.

96.

97.

97.

8.

98.

99.

99.

100.

100.

101.

101.

In which place 'Bangri' dialect is spoken ?
1) Kota - Bundi - JThalawar 2) Hanumangarh - Sriganganagar
3) Dungarpur - Banswara 4) Sikar - Jhunjhunu

AT el 6| & § A g 7

1) @ - & - A 2) EgEMG - AT
3) WYY - SEES 4) diT - g9

When was coronation ceremany of Rana Sanga of Mewar held ?
1) 1508 A.D. 2) 1509 A.D. 3) 1510 AD. 4) 1511 AD.

HqIE % [HEEE 9 A JE H TS T g 91 7
1) 1508 %. 2) 1509¢%. 3) 1510%. 4) 1511%.

How many British military Contonments were there in Rajasthan at the period of 1857 mutiny ?
1}y @3 2) 04 3) 05 4) 06

1857 #1 Hifa & 99 T | fha ffew st o ?
1) 03 2) 04 3)" 95 4) 06

When was Rajasthan Tourism Development corporation founded ?
1) April 1977 - 2) April 1978 3) April 1979 - 4) April 1980

TN vdes faw Fm @ e &9 g8 o ? _
1) 36 1977 2) 3 1978 3) I 1979 4) 30 1980

Who was responsible for writing of genealogies in many sgi;dessii'g generations ?
1) Jaga ~2) Pujari 3) Mahajan 4) All of above

aqaterdl d GE-a-aiel wE B are B A ar ? |
1) 2) gerd 3) T 4) Tqde gl

Who is the following is popular as "Meéra. of ﬁéngad" ?

1) Gavari Bai 2) Bhawanri Bai 3) Karma Bai 4) Gyanmati Bai
GETE S URT & AE H e d § eF e € 2

1) TR 2) HE A 3) & A 4) FFEHE A

When Bharmal of Amer had accepted the dependency of Akbar ?
1) 1560 A.D. 2) 1562 AD. 3) 1564 AD. 4) 1566 A.D.

T & TS 9RHW o AHAT Bl AUFAT 9 Wiwn Bi 49y ?
1) 1560 &1 -2) 1562 & 3) 1564 =0 4) 1566 e
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; 102. When Panchayati Raj Act was promulgated in Rajasthan ?

1) 23 March 1994 2) 23 April 1994
E 3) 23 June 1995 4) 23 June 1996
102. TTens | SarEdt o Afuien &9 | fhar o oar 7
1) 23 7™ 1994 £ 2) 23 e 1994 dEi
3) 23 94 1995 =i 4) 23 S 1996 T
103.In which place marble made ‘Batadu well' is situated ?
1) Banswara 2) Badmer 3) Dungarpur 4) Udaipur
103. 7T & FAffe arerg &1 Fr el Rag © 7 {
1) FHaE 2) d4QEHT 3) =YL 4) TGP

104. Who was the author of 'Eklinga Prashastd’ ?
1) Ramkirti 2) Maheswar 3) Gunabhadra ‘4)  Amarkavi

104. UEHidT 99Thid &1 T@ARBE & o1 7

1) Tid 2) wWee 3) U 4) oHTEN
105. Who established the Rajasthan Seva Sangh in 1919 ?

1) Vijayasingh Pathik 2) Jamna lal Bajaj

3) Manikya lal Verma 4) Mohan lal Sukhadia
105. TETEIT TG §9 @l O 1919 H e 2 @ i

1) fawafée afde 2) AR &

3) wifieg e 9= 4)  HIE W@ g
106. Who was popular as 'Mota Raja' in Rajasthan ?

1) Sursingh of Marwad . 2) Udaisingh of Marwad

3) Jaswantsingh of Marwad 4) Gajasingh of Marwad

106, 75T § e To % AW A g a7

1) WREE & TRHE 2) URATE &l ZEAE
3) WRATS & AHEdaiie 4) WA H TARE
107.1In which place copper age Jhadol is situated ?
1) Chittore o + 2) Nagaur
3) Udaipur 4)  Jolore
107 TG e e e fe E 7
1§ 1 Fris : 2) THR




108. Which one of the following is not correct maich ?
:  O.P Kachchwaha

T A) History of famines in Rajasthan
1 B) The last maharana a biograp’i v of Sawai Mansingh Second of Jaipur : Quentin crewe
C) Origin of Rajputs ' : : J.A Asopa
D) History of Chahmans :  R.B. Singh
S 2) B
4)  All of the above

3) None of the above

| 108. e foifga g § & B9 o g9 Tel F81 £ 7
A) T ow BHM 3 e DAL G wEEE
| B) € @IE WENN U S9% A% Ha1E 9MiHE 9602 AT Sy Tt e
C) ST 3% TeTged DO W, ST
| D) &l e dEa D 3. o1 '
1) A 2) B :
3) TudE AW HEl el ¢ | 4) T G TEE |
109. Who was the author of Prabandh - Kosh ?
1) Rajshekhar 2) Someshwar
3) Merutunga 4) Umerdan
109. ‘vEg®HM F wEs 1 ffad § & FF a1 ?
1) TEgET 2) HETE
3) HEG 4) FHEM
110. Whi'ch one of the following place in Rajasthan was not the centre of Copper Age culture ?
1) Noh 2) Gilund
3) Bagore 4) Rangamahal
| 110. 779 f@afEd § 9 &) 81 =F T 5 G A G650 @ &5 A8 91 7
iy 1) e 2) figos
N 3) ariw 4) T

To whom 'Dalthambhan' title has been given by Jahangeer ?

111.
2) Meghsingh

1)  Gajasingh

3) Karnasingh 4) Amarsingh
111, TRFR F ‘T @1 sune e &1 o ?

1) wiEE 2) ¥ufE

3) wHUEE 4) aImIHEE

112. Governer General lord Bentick banned 'Sati Pratha' in following places. Which one of the followi

match is not correct ?
2) Jaipur : 1844

1)  Alwar : 1830
3) Dungarpur : 1856 4) Jodhpur : 1848

112, 7 TR i At 3 P e W W T % iy Ru (R 8§ a5 A g g

1) 3=l @ 1830 - 2) YT : 1844
4) SegY : 1848

3) =YY : 1856
= A 06-4% 22
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113. Who was the propounder of 'Rasik - Sampradaya' ?
1) Achaldas 2) Agradas
3) Iserdas 4) Girdhardas

113. 3% duerd & 9aa® o o1 ?

1) HAgweE 2) FEH
3) FEM 4) FrawEm
114. "Goovak" belonged to which dynasty ?
1) Chahman 2) Kachchwaha
3) Pratihar 4) Hada
114, "7a%" 759 991 & 56 o91 7
1) =mEEE 2) HEIATEL
3) wfEr 4) =l
115. Which one of the following is not the writing of Jinrajsuri ?
1) Shalibhadra Ras 2) Ras Kailash
3) Gajsukmal Ras 4) Kayvanna Ras
115. 7= foaftga # & & @t T e & 98 § ¢
1) suferqs w4 2) TH &
3) TgHHE TH 4) HIIA TH
116. Who was popular as 'Roothi Rani' in Rajasthan ?
1) Kodmade : 2) Umade
3) Champade 4) Jaitelde
116. T § ‘w31 TP & ' § HH 4 T Wiae g 7
) @EmE 2) SR
3) 9UE 4) Faee
117. Maluknath saint belonged to which sect ?
1) Garibdasi Panth . 2) Charandasi Panth
3) Ramanand Panth 4) Ramsnehi Panth
. 117, AeE e 9 & ang a7
- 1) e Uy 2) YOI 9y
3) THEE Uy 4) TEEE 9g

* 118.1In which language 'Padmani Chaupai' is written ?

1) Prakrit 2) Dingal

3) Rajasthani 4) Apbhransh
118, ‘wewull w3ug’ b war | foraw dw & 7 )

1) wiga 2) S

3) T ' 4) IYY




119. 'Raika' caste 1s associated with which animal ?

1) Camel 2) Goat 3) Sheep 4) Cow
119. 7rsteE | b1 afy T gy | Hay B 7 _
1) e 2) TFHA 3) 43 4) TE _
120. Who was Giga Devi ? |
1) Queen of Parmar King Dharavarsha 2) Daughter of Parmar King Dharavarsha {
3) Sister of Parmar King Pooranmall 4) Queen of Maharaja Raj Singh

120. 70 241 & 491 ?

1) TR T GREy B 2)  WHE U GREy & G

3) TR QUM & TE 4) wewT T fiE @
1 121. Which district of Rajasthan is having common boundary with Gujarat and Madhya Pradesh ?
| 1) Sirohi 2) Banswara

3) Dungarpur 4) Pratapgarh

121. 37504 &1 BiF | el Taed o Aeg ueer § H5ges 9 v @

1) TR - 2) A
3) W - 4) AT
122. Among the following, which is the highest mountain peak ?
1) «Achalgarh : o Sajjangarh
3) Kho 4) Ragunathgarh

| 122. 7941 ffEa 9 & &M 91 94y 9oq e & 7
1) FEdTe 2) TG
3) @ 4) TgAIEE

123.River Banas is originated from :
1) Sihor Area i i ' 2) Near Dewas
3) Khamnoor hills =~ 4) Haripura Village

123. 9919 78l &l 36 ¥ &
) faEr &= e 2) &AM &% fwe
3) @9l & veisdl 4) g T

124. Which of the following is not a correct match ?

River Tributary
1) Mahi - Anas
2) Luni - Badi
3) Kalisindh - Niwaj
4) Banas - Sagi
06-
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124.

125.

125

126.

126.

fet feifiae 9 & @ @1 gafed 9@ 8 ?

REll HEPIE A4l
1) ¥l - I
2) - S
3) B - Ham=
4) &H - g

Which of the following two districts of Rajasthan arc having highest forest area ?

1) Sirohi and Banswara 2) Udaipur and Baran
3) Chittorgarh and Bundi 4) Jhalawar and Kota
e d = fofaa § 4 @ 4 31 e sifteas 99 89 v § 7
1) @ o ammareT 2) TEagl #F aWI
3) fedETe an 94 4) ZWEE 37 Her
Which is not a correct match ?
1) Red Loam - Dungarpur
2) Hilly Soil - Udaipur
3) Yellowish Brown - Bikaner
4) Deep medium Black - Kota
B T GHfe el & 7
L ciiicaliiea P T
1) e s - g
2) uddig ger - FEagd
3) e - g - dwee
4) TR TEH HAl - &

127. The correct sequence of dams / Barrage on River Chambal from its upper to lower course is :
. 1) Gandhi Sagar, Rana Pratapsagar, Jawaharsagar, Kota Barrage

127.

128.

2) Jawaharsagar, Gandhisagar, Kota Barrage, Rana Pratapsagar
3) Gandhisagar, Jawaharsagar, Ranapratapsagar, Kota Barrage
4) . Rana Pratapsagar, Gandhi Sagar, Kota Barrage, Jawahar Sagar

W gwE S A e A A ey

1) wih ¥R, AUnEEN 8R, SdE  90R, Hiel a9
2) TATEY WER, Wl TER, FET §IE, AOISETY T
3) T WAR, 9w 5O, T0NHaiT 96T, diel 9
4) TUIEEIY O, W FEE, HET AN, TR A

In which district Bhim Sagar and Chapi irrigation projects are located ?
1) Sawai Madhopur 2) Kota
3) Tonk Wiy .4) Jhalawar




128. 414 Are 3 widi G airEsand fog G | faa € 7
1) waE "y 2) @il
3) T% 4) HIETES

129. Which is not a breed of cattle in Rajasthan ?
1) Malvi 2) Nah
3) Mewati 4) Nagori

129. U508 H &9 E1 -9 @l A% A8 g 7

1) Hred 2) A

3) Har 4) AEIE
‘ 130. Consider the following Statements :
g d A) Desertification is the land degradation in arid and semi-arid regions.
v | B) Desertification helps in stabilization of sand-dunes in Rajasthan.

C) Deforestation and over grazing are the main cause of desertification in Rajasthan

¢ Select the correct answer using code given below :
Code
1) A and B are correct 2) A and C are correct
3) B and C are correct - 4) A, B and C are correct
130. = fofiaa ®o= w2 faar #ifw -

A) «» FEEIAIEI0T 9% U9 S1E-90%h oSl § Wi &1 SaEdw £ |

B) TN H WHEIWIHIl SgbSl & IS § {edd & |

C) TN A s IgErY 9™ § F5wieol & §&d & 2 |
x%&ﬂﬁﬁg(@)'@rﬂﬁwwwa&m—

1) A 3R B & - 2) AR CHA
3) B @R C @& 4) A,B 3 C T8
A
!. 131. Which is not a correct match ? |
~ Sanctuary Location (District)
1) Keladavi - Karauli
2) Talchapur - Churu
3) Ramsagar Vanvihar - Dholpur
4) Tadgarh Ravali - Bhilwara

131. %4 =1 gafed 781 & 7
C W
1) Hemedr
2) I B9
3) ¥ OrY a9 fEr
4) TR udat

06-+te




132. The causes of eco-crisis in Aravali region are :
A) Deforestation B) Land degradation C) Water Pollution D) Mining
Select the correct answer using code given below :

Code :
1) A, BandC 2) B,CandD 3) A,BandD 4) A,CandD
132. 3mae gesT | uiftufaa d@c & R
A) FAREEA B) 4™ a@wdo C) W& gy D) @A T
Fel IO H 999 A" Y F1= 4 Hid -
1) AB3rC 2) B,C3RD 3) A,B3RD 4) A.CITD
133. Which group of districts is included in II B, Transitional Plain of Luni Basin agro-climatic region of
_ Rajasthan ? _
. 1) Jalore, Pali and Sirohi 2) Nagour, Sikar and Jhunjhunu
i? 3) Pali, Jodhpur and Barmer 4) Jalore, Barmer and Jodhpur
| 133. T % B Twag WE9 1 B, T AtaE & S qe § s § o & oe atetd 7
1) SR, Swr o R 2) AR, Hiew A T
3) 9, SYgY SR AEHY 4) AR, dIgHT 3R AY9e
134, The first rail route in Rajasthan was started between :
1) Delhi to Alwar 2) Agra Fort to Bandikui
3) Ahamdabad to Ajmer 4) Bina to Kota
134, T | Gew W 90 uee fhar mmar s _
1) @ ¥ @A $ g 2) W WIE § giEgs & g
3) IEHTER § ST % W 4) 9 H BT & T

135. The total length of National Highways in Rajasthan in 2013 - 14 was :
1) 3650 km 2) 3425 km 3) 3056 km 4) 3228 km

135, 79I ¥ TR TOEET @ 2013-14 F Fw o= o9
1) 3650 fa. . 2) 32s5fe A 3) 3056 5. . 4) 3228 fb. Al

136. The last Indian Railway Station of Thar Express in Barmer distrist is

1) Pachpadra 2) Balotra 3)  Ramsar 4) - Munabao
136. 9T THAIE B STSU it # AReE Siw 3w oM |

1) 9a9s 2) qre 3) W 4) FTEE
137. The two leading Asbestos producing districts of Rajasthan are :

1) Chittorgarh and Rajsamand 2)  Udaipur and Dungarpur

3) Pratapgarh and Kota 4) Bhilwara and Tonk

* 137 e § qeete T & A o o £ | i
1) feeeig oir ToER= 2) TR AR FTRY
3) WANTg &R e ‘ 4) HwErE dr
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138. Which is not a correct match ?

Mineral Mining Area
1) Irc:Ore - Nathara-ki-Pal
2) Copper - Pur-Benada-Dariba
3) Asbestos - Jhamar-Kotada
4) Gypsum - Jamsar

138.%9 &1 gHfed 721 & ?

a4 eLCIE

1) e 3T - AT BT O
2) dfan - QT - & - g
3) TEwE - W HiEsT
4) froam - WEET

139. The four main rice producing districts of Rajasthan are :
1) Hanumangarh, Banswara, Bundi and Dungarpur
2) Ganganagar, Hanumangarh, Ajmer and Banswara
3) Kota, Bundi, Dungarpur and Tonk
4) Ajmer, Bhilwara, Tonk and Bundi

139. 79I & UR Y4E diEad sdesm e # -
1) EgATTTG, SEETel, 981 3T TRYY
2) TR, §HMTE, ATHT AN FEarE]
3) el g6, FRY AR <
4) R, e, i S "6

140. The two leading cotton producing districts of Rajasthan are :
1) Alwar and Bharatpur 2) Kota and Baran
3) Jaipur and Dausa 4) Ganganagar and Hanumangarh

140. 750 & &1 sl &9 IqEsd fHe 2
1) e 37 WY ' 2) el dARr "
3) WA 3T S 4) T TR X egATTe

141. Assertion (A) Chambal is the only perennial river in Rajasthan.
Reason (R) The water of river Chambal is only used for irrigation purpose.
1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not a correct explanation of A
3) Aistrue, R is false
4) Ais false, R is true

141. %9 (A) Tl 4T TS BT U A0 99 qdw= g8 aiel T4l & |
BT (R) T el &1 5 hae [HgE & I9ar § foar o 2 |
1) A 3R R i T8l € 3R R, A &1 98l WL ¢ |
2) A 3 R 3 T8 § g R, A B G2 W TE § |
3) AGEE, R ¥ | :

4) A T E, R HE B
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142, Shivpur Ghat, Sura Ghat and Debari are the :

1) River Vallies of Aravalli 2) Passes of Aravalli

3) Mining centres 4)  Source of rivers
142 Tyragane, g9 Hie AR A E

1) 3Ewl &l 761 gifed! 2) aﬂmﬁl &% &L

3) = S 4) a3

143. The highest peak of Jalore hilly area is :
1) Israna Bhakar 2) Roja Bhakar 3) Jharola Pahad 4) Satur

143. TR 92121 &3 & qared 9% € ;
1) SHIET 91 2) Il HIHT 3) FEE 9B 4) HJ
144.In Jaipur, Metro Railway runs between :
!. 1) Jawahar Nagar to Railway Station 2) Mansarovar to Chandpol
' 3) Pratapnagar to Chandpol 4) Mansarovar to Ajmeri Gate
144. 597 § HET W gl €
1) Fae TR R 7 ©9H P 9" 2) ' HHENET 3 el & 9"
3) WA HR Fiedid & 9" 4) wEEET S AT e F A
145. The Bap area near Phalodi is known for :
1) Limestone Production 2)  Graphite Production
3) Silver Production 4) Salt Production
145.%e1E] @ febe 919 &= ST S | |
1) I YRR T9EA & el 2) T%mET SAE § ol
3) ol SaRd & o 4) & IdEA & fod
146. The length of the international border of Rajasthan is :
'1 1) 1250 km 2) 980 km 3) 1070 km o 4) 1148 km
146. TSI &) ST A # wr E

1) 1250 f&. #. 2) 980 f&. #. 3) 1070 . A 4) 1148 B A
i .

147, In which part of Rajasthan Dry Teak forests are found :

A Central Rajasthan 2) Southern Rajasthan

. Eastern Rajasthan -~ 4) North castern Rajasthan

& feol w1 § 9 9FEE & 99 9 S 2 7 :
A TS 2) SiEl TeRH
T 4) TAN-GEl TR

jaj Sagar is a Joint Project of - 2
an and Gujarat 2) Rajasthan and Madhya Pradesh
than, Gujarat and Madhya Pradesh  4)  Only a Rajasthan Project




148 T2l - SIS AV U HgH YA © - )
1) IR SR T & 2) TN ST e USST @l
£ I 0 M i 1 el R e 4) FEd THAN & IR

149. Assertion (A) Rainwater harvesting is an effective measure of water conservation.
Reason (R) In Western Rajasthan, Traditional methods of water conservation are still effective.
1) Both A and R are true and R is the correct explanation of A
2) Both A and R are true but R is not a correct explanation of A
3) Aistrue, R is false
4) A is false, R is true

149.%99 (A) TUI T HUSU el HLEIT H UH T & & |
0T (R) UFSTHT 7ol § Q7RI ofel 28007 1 fafet endt off gvmesiier & |
1) A 37 R aH 981 & &7 R, A &1 @&l <60 & |
2) A 3T R aF T & f6g R, A &1 981 Tl =8l ¢ |
3) AGEIER TEd © |
4) ATHdEREEE |

150. The shaded area on the map shows areas having :
1) More than 80 c¢m rainfall
2) 60 to 70 cm rainfall
3) 50 to 60 cm rainfall
4) Less than 50 cm rainfall

150. 9= § BrEhd éa waiifa & 2
1) 80 &. A1 q 3iftre aul & &%
2) 60 F 70 A, H. 99 F &=
3) 509604 4. 99 & &=
4) 50 {. A1 7 B qU F &

151. What is the number of bit patterns yield by 8 bits code ?

1) 64 2) 256 3) 128 4) 512
151.8 foeq e 2 WM Yo &1 He w1 ¥

1) 64 2) 256 3) 128 4) 512
152. Find the odd one out. _ .

1) Mouse 2) Keyboard 3) Printer 4) Central Processing Unit
152.37H 9 B A1 4w TR @il & 7

1) =EH 2) wHEE 3) fer 4) T TEES T

153. A terabyte comprises
1) 1024 gigabyte 2) 1024 kilobyte 3) 1024 megabyte 4) 1024 byte

153.U% STEEe | S & ? -
1) 1024 TrTEES 2) 1024 frdEEe 3) 1024 SaEEe 4) 1024 9@
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154, Full form of TCP is

1) Transmission control program 2) Totaling control program
3) Transmission control protocol 4) Total control Protocol
151. TCP & g9 #9 ¥ - e
1) TS dgw S 2) el dg s
3) SEMIE wEW dee 4) Tied Fgia g
155. What does HTTP stands for ?
1) Head Tail Transfer Protocol 2) Hyper Text Transfer Protocol
3) Hyper Text Transfer Plotter 4) Hyper Text Transfer Plot
155.HTTP &1 §d ®IF 1 & 7
1) T & gEwl Wrkmid 2) TR CHT TEET WIS
3) ERW HRE TEH Wiel 4) BTEW CHE TEW! e
156. Which command line utility can be used to check if the host is alive or not
1) PING 2) Telnet 3) IPConfig 4) NTP
156. Host R7a1 & a1 &1 & Sita &% % fore zewme fban o &t &, 98 @is wied grefee & 2
1) PING 2) Telnet 3) IPConfig 4) NTP
157.1f you need to send same massage to multiple person (for information), through e-mail best way is
1) Mail each one individually again - 2) Use forward option in email
3) Use CC option in email 4) None of these

15739 & Wregq | &2 Afdadl Bl U & HesT 9o & Teid ¢ (gaend), o 599 stwsl adier € 7
1) I ¥ & U% & Al &9 9 2) =€ H wiES

3) o9 § He fawed 4) T H BE T
158. Which of the following is not an output device ?

1) Monitor 2) Printer 3) Plotter 4) Joystick
158. 701 T § | &9 |1 U% ASeye fBaed 8 ¥ 7

1) Hitvex 2) fiiex 3) e 4) wfes
159. Email includes all of the following basic element except

1) Header 2) Footer 3) Message 4) Signature
159. 30w #, =1 givae a= # Sesy, o e § -

1) &R 2) B 3) Hew 4) wEE
160. The term 'Pentium’ is related to

1) DVD 2) Microprocessor 3) Input 4) Output
160. 51 tifeam & dafta & |

1) SEEn 2) WEHMEET 3) =IYe 4) MSTYe
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